[— BALANCING DECOMPOSITIONﬂ
Reactions
Balance the following decomposition reactions.

i__ PbSO,—>__ PbSO,+____ O,
i  NaF> _ Na+ F,
i.  Li,N-—> Li + N,
v. ~~ AgQOH-> __ = Ag,0+ H.,O
v NH,> N, + H,
vi_ ALS,>_ Al+_ S
vie _ ALO,>_ Al+__ O,
Vil H,0, > H,O + O,
x  NaCl>_ Na+__ Cl,
X H,PO, > H,P,0, + H,0
i _ NHNO,=>_ = N,+ H,0
Xil N,O, > N,+_ O,
xi. ~~ FeO,>_ Fe+_ O,
v KCIO,>_  KCI+__ O,

XV. Na2CO3 -> NaZO + CO2
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Answers

2 _PbSO,—> _2 PbSO,+_1 O,

2 NaF> 2 Na+ 1 F
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2 Li,N>_6 Li+_1 N,

2 AgOH-> 1 Ag0+_1 HO

2 NH,> 1 N,+_ 3 H,

2
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1 _ALS,> 2 Al+_3 S

2 _ALO,>_4 Al+_3 O,

2 NaCl>_2 Na+_1

2 HpPO,> 1 HPO,+_ 1 HO

1 _NHNO,> 1 N,+_ 2 HO

2 Fe0,>_4 Fe+_3 O,

2 KCO,> _2 KC+_3 O,

1 Na,CO, > 1 Na,O + 1 CO,
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